Tong hop d@é thi va déap an, hwéng dan gidi ky thi TIMO khéi 2 cde nam

PE SO 1:
PRELIMINARY ROUND / VONG LOAI QUOC GIA
Logical Thinking/ Tw duy logic

Q1. Michael’s class has 5 boys and 6 girls. How many classmates does he have?
Lop cua Michael c6 5 bgn trai va 6 ban gai. Hoi Michael c6 bao nhiéu ban cung
lop?

A 11 B. 10 C. 12 D.9

Q2. If today is Wednesday and also the first day of March. Which day of the week
is 9" March?

Néu hdm nay la thiz Tur va ciing la ngdy dau tién cua thang 3. Vay ngay 9 thang 3 la
ngay thi may?
A. Wednesday (Thu Tu) B. Saturday (Thu Bay)
C. Friday (Thu Sau) D. Thursday (Thu Nam)
Q3. According to the pattern below, find the 15th figure counting from the left.
Dwa vao quy ludgt dudi day, tim hinh thur 15 tinh to bén trai.
A OOAROOA%...
A. O B. [ C.a D. %
Q4. Dan celebrated his 6th birthday 3 years ago. How old will he be 2 years later?
Dan té chitc sinh nhdt lan thiz 6 vao 3 nam truéc. Hoi 2 ndm nira anh dy mdy tugi?
Al B. 11 C.7 D.5
Q5. According to the pattern below, what is the value of the next number?
Duwra vao quy ludt cia day sé sau, gid tri cia sé tiép theo 1a sé nao?
50, 3, 45, 6, 40,9, 35,12, ...
A. 13 B. 15 C.25 D. 30
Arithmetic/ Sé hoc
Q6. Find the value of 5+ 6+ 7+ 8 + 9 + 10.
Timgiadtricua5+6 +7 + 8+ 9 + 10.
A. 50 B. 55 C. 40 D. 45
Q7. Calculate 13-11+9-7+5-3+ 1.
Tinh13-11+9-7+5-3+ 1.
A. 14 B. 6 C.7 D. 10

Q8. Gordon thinks of a number. He adds 38 then subtracts 42 to get the smallest 2-
digit odd number. Find Gordon’s number.

Gordon nghi ra mét s6. Anh dy 1dy sé dé céng thém 38 roi trir di 42 thi dwoc s6 16
nho nhat co6 hai chiz so. Tim so do.
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A. 15 B. 25 C. 14 D.7

Q9. Let X and Y be different 1-digit numbers. If the equation below is correct, find
the value of Y.

Cho X va Y 1a cac sé c6 mét chir s6 khac nhau. Biét rang phép todn duwéi day la diing,
timgia tri cua v.

X Y
+ Y
4 8
A 4 B.8 C.9 D.7

Q10. According to the pattern of the following sequence, find the sum of the first
eight numbers.

Duwea vao quy ludt ddy sé duéi ddy, hdy tim tong cua 8 sé dau tién.
1,1,2,3,5,8, ...

A. 21 B. 54 C.44 D. 34

Number Theory/ Ly thuyét so
Q11. According to the pattern below, find the value of the 7! number in the sequence.
Duwea vao quy ludt dudi day, tim gid tri cua sé thir 7 trong day.

3,7,11,15, ...

A. 18 B. 19 C.23 D. 27
Q12. From 7 to 23, how many 2-digit numbers are there?
Trong cac sé tir 7 dén 23, héi c6 bao nhiéu sé c6 hai chir $6?
A. 13 B. 14 C.15 D. 16

Q13. Cara has 40 candies and Jolie has 20 candies. How many candies does Cara
have to give Jolie to make them have the same number of candies?

Cara c6 40 cai Igeo va J‘olie c6 20 cai keo. Hoi Cara phai cho Jolie bao nhiéu céi keo
dé hai ban cé so keo bang nhau?
A. 20 B. 15 C.10 D.5
Q14. Refer to these numbers, how many odd numbers greater than 39 are there?
Trong Cac sé duwdi ddy, héi c6 bao nhiéu sé lé 1én hon 39?

12, 15, 28, 93, 35, 41, 90
A.3 B.2 C.4 D.1
Q15. Fill in the blank to get a correct equation.
bién so thich hop vao ché trong dé dwoc phép todn ding.

_ +27=19+48-23
A. 17 B. 27 C.61 D.71
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Geometry/Hinh hoc
Q16. At least how many cubes are there in the figure below?
Hinh dwdi ddy 6 it nhat bao nhiéu khoi ldp phirong?

pa |

)

A.8 B.7 C.6 D.9
Q17. At least how many squares can be seen if viewing the figure from top?
Néu nhin hinh tzr trén xuéng c6 thé nhin thdy it nhat bao nhiéu & vudng?

A.3 B. 4 C.6 D.5
Q18. How many triangles are there in the figure below?
Hinh dwoi day co bao nhiéu hinh tam gidac?

/\

A5 B.8 C.10 D. 12

Q19. Daniel draws 6 lines on a sheet of paper. At most how many squares can be
formed by Daniel?

Daniel vé 6 dwrong thang trén mét to gidy. Héi anh dy cé thé teo ra nhiéu nhat bao
nhiéu hinh vudng?
Al B.4 C.5 D.6

Q20. According to the pattern shown below, how many circles are there in the first
20 figures?

Duwra vao quy ludt dudi ddy, héi c6 bao nhiéu hinh tron trong 20 hinh dau tién?

L AOCOLHAOCOUIAOOL...
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A. 6 B. 8 C.10 D. 12
Combinatorics/ Toé hop

Q21.Separate the following stars into 3 equal groups. How many stars are there in
the first 2 groups?

Chia cdc hinh ngéi sao dwéi ddy thanh 3 nhém bang nhau. Héi c6 bao nhiéu hinh
ngoi sao trong 2 nhom dau tién?

% Kk Kk Kk ko k ok ok

A. 3 B. 4 C.6 D.9
Q22. Arrange these numbers in descending order to find the 4th largest number.
Sdp xép Cac sé sau tir lon dén bé dé tim sé lon thir tur.

23,91, 73, 39, 46, 82, 50
A. 39 B. 50 C. 46 D. 73
Q23. Tom chooses 2 different digits from 1, 4 and 7 to form 2-digit numbers. Among
those numbers, how many odd numbers are there?
Tom chon 2 chit so khac nhau tir 1, 4 va 7 dé lap thanh cac so ¢6 hai chi s6. Hoi
trong so do co bao nhiéu so 1é?
A.3 B. 4 C.5 D. 6
Q24. In how many ways can we distribute 6 identical flowers into 3 different vases
given that no vases are empty?

Héi ¢6 bao nhiéu cach dé cam 6 bdng hoa giong nhau vao 3 lp hoa khac nhau sao
cho lo nao ciing cé hoa?

A.2 B.9 C.10 D. 18

Q25. Kesha has 2 different T-shirts and 3 different pants. Each day, she mixes a shirt
with a pant to make a set of clothes. At most how many different sets of clothes can
she mix?

Kesha c¢6 2 chiéc 4o phong khac nhau va 3 chiéc qudan khac nhau. M4i ngay, co bé
phéi 1 chiéc ao véi 1 chiéc quan dé cé mét bg quan ao. Héi cd bé co thé phai nhiéu
nhdt bao nhiéu bé quan 4o khac nhau?

A. 6 B.3 C.5 D. 8
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PE SO 2:
PRELIMINARY ROUND / VONG LOAI QUOC GIA
Logical Thinking/ Tu duy logic
Q1. If last month was April, which month will it be 16 months later?
Biét thang truéc 14 thang 4, héi 16 thang nira 14 thang mdy?
A. May (Thang 5) B. September (Thang 9)
C. August (Thang 8) D. December (Thang 12)

Q2. By observing the pattern, what is the English letter in the space () provided?
Quan sat quy ludt duwedi ddy dé dién chir ci Tiéng Anh thich hop vao ché tréng (,_ °).
A,Z,B, ,C,X,D,W,..

A E B.S C.U D.Y

Q3. Observe the sequence below to replace the music note with a suitable number.

Quan sat day sé duéi ddy dé thay thé nét nhac bang sé thich hop.
50,49,47,44,40, 72 , ...

A. 35 B. 39 C.30 D. 36

Q4. Refer to the pattern below, how many arrows are there in the 5™ Group?

Dwa vao quy ludt dudi day, hoi sé co bao nhiéu miii tén trong nhom thi 5?

DD DD DR DD
D 2| = = N
D |
= = SNEIRE SR
=
= A= = = =
= = =
15t Group 284 Group 31 Group 4% Group
A. 15 B. 20 C.21 D. 16

Q5. Each cupcake costs $2. Alice had $23 and she bought 7 cupcakes. How much
money did she have left?

Moi cdi banh cé gia 2 do. Alice c6 23 d6 va c6 bé mua 7 cai banh. Hoi khi do co bé

con lgi bao nhiéu tien?

A. $14 B. $9 C. %21 D. $8
Arithmetic/ S6 hoc

Q6. Find the value of 28 + 43 + 72 + 29 + 11+ 37.

Timgiatricua28 + 43 + 72 + 29 + 11+ 37.

A. 220 B. 200 C. 210 D. 230
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Q7. Which number should the flower be replaced by to get a correct equation?
Hoi can thay thé béng hoa duwdi ddy béi s6 nao dé dwoc phép tinh ding?

D +D-2=+24

A. 23 B. 46 C.2 D. 40
Q8. Find the value of 2 +4+ 6+ ... + 16 + 18.

Tinhgiatricia2 +4+6+ ... +16 + 18.

A. 100 B. 80 C.90 D. 180
Q9. Calculate: 7x2+11x2+2x3+2x9

Tinh: 7x2 +11 x2 +2 x3 +2 x9

A. 60 B. 50 C. 40 D. 70

Q10. A and B represent different 1-digit numbers. What is the value of B if the
equation is correct?

Biét A va B biéu dién cac so c6 1 chir so khac nhau, héi gia tri ciia B la bao nhiéu dé
ta dwoc phép tinh dung dwoi day?

4 B 4
+ B B
5 3 0
A5 B.6 C.3 D. 4
Number Theory/ Ly thuyét sé
Q11. Determine whether the sum+2 +3 +4+...... + 9 is odd or even.
Xéc dinhtongcial + 2 + 3 + ..... + 9 [a lé hay chan?

A. Odd (S4 1é)

B. Even (S4 chan)

C. Both odd and even (Vira chan vira 1é)

D. Neither odd nor even (Khdng lé khdng chan)

Q12. A box has balls with consecutive even numbers from 10 to 40. How many balls
are there in the box?

Mét hép chiza cac qua bong duwoc danh sé chan lién tiép tir 10 d@én 40. Héi ¢6 bao
nhiéu qud bong trong hop do?
A. 15 B. 16 C.31 D. 40
Q13. Find the next number in the arithmetic sequence below.
Tim sé tiép theo trong day sé cdch déu duéi day.
419, 398, 377, 356, ...
A. 355 B. 314 C.335 D. 345
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Q14. Andy gave Betty 27 marbles and Betty gave Charlie 13 marbles so that they
have the same number of marbles. How many marbles does Andy have more than
Charlie originally?

Andy cho Betty 27 vién bi va Betty cho Charlie 13 vién bi thi ba ban ¢6 so bi bang
nhau. Hoi lic dau Andy c6 nhiéu hon Charlie bao nhiéu vién bi?

A. 27 B. 41 C. 14 D. 40

Q15. David collected 19 stamps. His brother collected 12 stamps. One page of the
collection can contain no more than 9 stamps. At least how many pages are required
to present all stamps of 2 brothers?

David swu tam dwoc 19 cdi tem. Anh trai David swu tam dwoc 12 céi tem. M4i trang
cua bo swu tap khong chira dwoc nhiéu hon 9 cdi tem. Hoi can it nhat bao nhiéu trang
de trung bay dwoc toan b so tem cua hai anh em?

A. 2 B. 3 C.4 D.5
Geometry/Hinh hoc

Q16. How many squares are there in the figure below?

Hoi co bao nhiéu hinh vuéng trong hinh dwoi day?

A 21 B. 22 C. 16 D. 19

Q17. At least how many unit squares are seen if viewing the figure below from the
right?
Néu nhin hinh bén dwéi tir bén phdi thi ¢6 it nhdt bao nhiéu 6 vuéng don vi?

A 4 B.3 C.7 D.6
Q18. How many edges does a cube have?
Hoi mgt hinh ldp phuwong cé bao nhiéu cgnh?

A. 16 B. 12 C.9 D. 8
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Q19. How many line segments are there in the figure below?
Héi ¢6 bao nhiéu doan thang trong hinh dwéi day?

A. 18 B. 24 C. 16 D. 28

Q20. Refer to the figure sequence below. How many triangles are there in the first
23 symbols counting from the left?

Xét ddy hinh dwéi ddy. Hoi ¢6 bao nhiéu hinh tam gidc trong 23 hinh dau tién tinh
ter phia bén trai?
*OVERV*OVERV*OVERV X .

A9 B. 10 C.8 D.6
Combinatorics/ Té hop

Q21. A 4-digit number is formed by choosing 4 numbers without repetition from O,

1, 3, 7 and 9. What is the difference between the largest and the smallest value?

Mgt so ¢6 4 chik 6 diroC tao ra bang cach chon 4 s6 khong lap lai tir 0, 1, 3, 7 va 9.

Tim hiéu gizra gia tri lon nhat va gia tri nho nhat cé thé chon duorc.

A. 9594 B. 8999 C. 8352 D. 8694

Q22. The librarian needs to move some books so that 3 shelves below have the same

number of books. At least how many books does she have to move?

Thii thur can di chuyén mét so sdch dé ca 3 ngan cé s6 séch bang nhau. Hai ¢d ay

can di chuyén it nhat bao nhiéu quyén sach?

LHEAED Y EAED ES
LHEH R D ES EYER
LLYEL D

A5 B.6 C.3 D. 2

Q23. Choose 3 digits, can have repetition, from 0, 1, 3, 6 and 9 to form 3-digit even
numbers. How many different numbers can be formed?

Chon 3 chiz sé (c6 thé diroc chon Igp lai) tir 0, 1, 3, 6 va 9 dé |dp thanh céac sé chan
c6 3 chir so. Hoi c6 thée ldp diroc bao nhiéu so khdac nhau nhu vay?

A. 40 B. 20 C.24 D. 30
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Q24. For every 4 pens, the store gives each customer 2 erasers for free. If Fred buys
15 pens, how many erasers can he get?

Ci» mua 4 chiéc buit thi khach hang dwot tang 2 cuc tay mién phi. Néu Fred mua 15
chiéc but thi anh dy nhdn dwoc bao nhiéu cuc tay?

A7 B. 3 C.8 D.6

Q25. The 3 x 3 square below contains 9 consecutive numbers from 1 to 9 in each
cell and the sum of numbers in each column or row is equal. Find the number that
should be filled in cell A.

Hinh vudng 3 x 3 duwéi ddy gom 9 sé lién tiép tir I dén 9 dwoc dién vao méi 6. Tong
Ccac s6 ¢ mai hang va mai cét 1a bang nhau. Hay tim sé thich hop dé dién vao 6 A.

A 1 B
3 C 7
D 9 E
A 2 B.4 C.6 D.8
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PE SO 3:
HEAT ROUND / VONG CHUNG KET QUOC GIA
Pé thi Vong Chung két quée gia nim hoc 2020 — 2021
Logical Thinking/ Tw duy logic
Q1. According to the pattern below, what is the English letter in the space?
Duwa vao quy ludt duwdi ddy, chir cai Tiéng anh trong ché trong la chi gi?
B. D. G. I. L. N.

Q2. 23 children form a column. There are 8 children behind Alice. How many
child(ren) is/ are in front of her?

23 diratre xép thanh hang doc. Cé 8 ban dirng sau Alice. Héi c6 bao nhiéu ban ding
trudc c0 ay?

Q3. When Edward was born, mum was 27 years old. Brother was born 1 year later.
When mum is 46 years old, how old will brother be?

Khi Edward dugcC sinh ra thi me 27 }uéi. Em trai dwoc sinh ra 1 nam sau do. Hoi khi
me 46 tuoi thi em trai bao nhiéu tuoi?

Q4. What is the value of the number to represent ‘?” in the following table?

Gia tri cua sé biéu dién “?” trong bang sau 1a bao nhiéu?

1 2 2
3 4 12
] & 30
7 8 7

Q5. According to the pattern below, how many # is / are there in the 61 Group?
Theo quy ludt hinh dudi day, nhom thir 6 6 bao nhiéu #?

# m
#* # # #
* # # # * #
#* #* #*
| [# # #* #* * #
EE|E[#F]| [ & m m
&% |# | % o
W H & # | & #|#|#

Group 1 Group 2 Group 3 Group 4

10
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Arithmetic/ S6 hoc
Q6. Find the value of 28 + 11 + 23 + 39 + 32 + 17.
Tim giatri cua 28 + 11 + 23 + 39 + 32 + 17.
Q7. Find the value of 6 x 23 + 6 x 38 + 6 x 56 — 6 x 18.
Timgidtricia6 x23+6 x38+6 x56 —6 x18
Q8. Find the value of 11 + 13 + 15+ 17 + 19 + 21 + 23 + 25.
Timgiatricuall +13+15+17+19+21 + 23+ 25
Q9. Find the value of 12 +5+9+5+17 +5-3 + 5,
Timgiatricual2 +5+9 =5+ 17 =5 -3 =5,
Q10. Find the value of 12 x 5 x 5 x 15 x 2.
Timgiatri cia 12 x5 x5 x15 x 2.
Number Theory/ Ly thuyét s6

Q11. The numbers below follow the arithmetic sequence, what is the sum of the 6"
number and the 9" number?

CAac s6 dudi ddy theo cdp s6 céng, tim tong cua soé thi 6 va so thir 9?

99. 92, 85, 78, 71, ...
Q12. Fill the lines with ‘+’ and ‘-’ to make the equation below correct. (Write down
the complete equation on the answer sheet).
pién Vé.‘o cac dong Vo"’i ddu +’va =’ dé tao thanh mét phép tinh ding. (Viét phwong
trinh day du trén phieu tra loi).

23 7 11 3=22

Q13. Determine the result of 7 x8+8x9+9x10-1x1-2x2-3x 3isoddor
even.
Xacdinhkétquacia7x8+8x9+9x10-1x1—-2x2-3x3laléhay chan.
Q14. What is the smallest 3-digit number that can be divisible by 7 and 4?
S6 nhé nhat ¢ 3 chiz sé ¢6 thé chia hét cho 7 va 4 1a sé nao?
Q15. If A, B and C are 1-digit numbers, find the value of B + C.
Néu A, B va C la cac sé ¢6 1 chiz sé, hdy tim gia trj cia B + C

B A
+ C B
1 6 2

11
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Geometry/Hinh hoc
Q16. How many line segments are there in the figure below?
Hinh dwdi ddy cé bao nhiéu doan thang?

Q17. A prism has 27 edges, how many faces does this prism have?
Mot hinh lang tru 6 27 canh, hoi hinh lang tru nay c6 bao nhiéu mat?
Q18. How many square(s) is / are there in the figure below?

Co bao nhiéu hinh vuong trong hinh dwoi day?

Q19. At least how many squares can be seen if viewing the figure below from top?
Néu nhin hinh bén duwdi tir trén xuéng thi c6 thé nhin thdy it nhdt bao nhiéu 6 vudng?

et
i

Q20. At most how many different triangle(s) can be formed by having 4 straight lines
cut a circle?

C6 thé tqo thanh tdi da bao nhiéu tam gidc khdc nhau khi ¢é 4 dwong thang cat 1
hinh tron?

Combinatorics/ Toé hop

Q21. How many 3-digit number(s) having the unit digit that is larger than the
hundreds digit is / are there?

C6 bao nhiéu so ¢6 3 chir s6 ma chir s6 hang don vi \én hon chir s6 hang tram?
Q22. According to the following answers, how many 2-digit numbers are there?
Theo két qud cua cac phép tinh sau, ¢ bao nhiéu sé ¢6 2 chir $6?

2x4 42+7 ,36+3 ,7x2 ,9%x9 ,39+-3,72+=9

12
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Q23. What is the greatest 4-digit odd number by using 0, 2, 4, 6 and 9? (Each digit
can only be used once).

Tim s6 1é 16n nhdt c6 4 chi sé bang cach siz dung 0, 2, 4, 6 va 9? (M4i chi sé chi ¢é
thé la da sir dung mét lan)

Q24. There are 4 different flavors of ice-cream. Now mixing 3 types to make a 3-
ball ice-cream. How many different type(s) of ice-cream is / are there? (Strawberry -
vanilla — chocolate will be counted the same as strawberry - chocolate - vanilla).

C6 4 vi kem khac nhau. Bay gio trén 3 logi dé tqo thanh kem 3 vién. C6 bao nhiéu
logi kem khac nhau? (DAau - vani - sb ¢ la sé dwoc tinh giong nhw ddu - sd ¢d la -
vani).

Q25. Choose 4 digits, without repetition, from 0, 1, 4, 5, 6 and 7 to form two 2-digit
even numbers. What is the minimum value of the difference?

Chon 4 ché sé, khong lép lai, tir 0, 1, 4, 5, 6 va 7 dé tao thanh hai sé chan c6 2 chir
sé. Gia tri nhé nhdt cua hiéu 1a bao nhiéu?

13
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